o = TE0 b—o 685 Addisjon opptil 100 (horisontalt)

StudentName: ExamDate: _ ExamScore:
59+ 63 = 70 +41 =
76 + 100 = 52495 =
08 +29 = 78+ 74 =
67 + 78 = 51+82=
63+9 = 26 +29 =
33+48 = 05+ 35 =
85+ 28 = 20 + 4 =
36 +70 = 78 +19 =
88 + 64 = 08 +27 =
18+ 63 = 37+79 =
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=5 & T 55

Addisjon opptil 100 (horisontalt)

StudentName:

59+63 =122

76 + 100 = 176

98 +29 =127

67 +78 = 145

63+9="72

33 +48 = 81

85+28 =113

36 +70 = 106

88+ 64 =152

18 +63 = 8l

ExamDate:

70+41 =111

52+95 =147

78 +74 =152

51+82=133

26+29 =155

95 +35=130

20+4 =24

78 +19=97

98 +27 =125

37+79 =116
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